
 

 



 

 

 

 

 

 

 



Chhattisgarh PCS General Studies Question Paper I 

 

1. Which metal has so far not been discovered in Harappan sites? 

(A) Copper 

(B) Gold 

(C) Silver 

(D) Iron 

 

2. The Major food fuel during exercise of long duration is  

(A) Fat 

(B) Protein 

(C) Carbohydrate 

(D) None of these 

 

3. Which of the following is not an important industry of Chhattisgarh from the point of view of 

production? 

(A) Iron and steel 

(B) Cement 

(C) Chemical 

(D) Aluminium 

 

4.  In a class the average weight of 150 students is 80 kg. The average weight of boys and girls is 85 kg 

and 70 kg respectively. The number of girls in the class is 

 

(A) 60 

(B) 70 

(C) 50 



(D) 80 

 

5. Remains of which animal have not been discovered in the Indus valley Civilization? 

(A) Lion 

(B) Horse 

(C) Cow 

(D) Elephant 

 

6. The body which controls the participation of Indian teams in Olympic game is 

(A) AAFI 

(B) IOC 

(C) IOA 

(D) OCA 

 

7. Bhilai Steel Plant is a ----------- enterprise. 

(A) Public Sector 

(B) Private Sector 

(C) Co-operative Sector 

(D) Public - Private joint sector 

 

8. Which of the following is not a measure of central tendency? 

(A) Mean 

(B) Median 

(C) Mode 

(D) Variance 

 



9. Rigveda consists of total___________hymns. 

(A) 1028 

(B) 1017 

(C) 1128 

(D) 1020 

 

10. The term CUE is related to  

(A) Badminton 

(B) Basket ball 

(C) Base ball 

(D) Billiards 

 

11. Which one of the following type of climate in Chhattisgarh State? 

(A) Humid South-East 

(B) Sub Humid transitional 

(C) Sub Humid Littoral 

(D) Sub Humid continental 

 

12. Gautam Buddha attained Nirvana at which place? 

(A) Kushinara 

(B) Sravaste 

(C) Lumbini 

(D) Sarnath 

 

13. Which of the following planet takes maximum time to revolve around the sun? 

(A) Earth 



(B) Jupiter  

(C) Mars 

(D) Venus 

 

14. Federation Cup is related with 

(A) Men tennis 

(B) Women tennis 

(C) Men Hockey 

(D) None of these 

 

15. Galvanised iron is coated with 

(A) Aluminium 

(B) Galena 

(C) Silver 

(D) Zinc 

 

16. Chhattisgarh region receive its most of the Monsoon rains from 

(A) Bay of Bengal Branch 

(B) Arabian Sea Branch 

(C) Indian Ocean Branch 

(D) Retreating Monsoon 

 

17. Which one of the following was not a Capital of Magadhan Empire? 

(A) Girivraja 

(B) Rajgriha 

(C) Pataliputra 



(D) Kosambi 

 

18. Sachin scored 100th century against which country in international cricket? 

(A) England 

(B) Australia 

(C) Pakistan 

(D) Bangla Desh 

 

19. What metals constitutes brass? 

(A) Copper and nickel 

(B) Copper and tin 

(C) Copper and zinc 

(D) Copper + zinc and nickel 

 

20. The most mineralized rock system of india is 

(A) Dharwar system 

(B) Vindhyan system 

 (C) Cuddapah system 

(D) Gondwana system 

 

21. Which one of the following Asokan inscription is in "Kharosthi" script ? 

(A) Khalsi 

(B) Girnar 

(C) Shahvajgadi 

(D) Meerut 

 



22. Name of the Indian Gold medal winner Hockey team captain which had won 1975 world cup ? 

(A) Aman Singh     

(B) Ajit Pal Singh 

(C) Roop Singh 

(D) Sandeep Singh 

 

23. Pencil lead is  

(A) Charcoal 

(B) Coal 

(C) Graphite 

(D) Lamp Black 

 

24. The richest Biodiversity in India is found in 

(A) Silent Valley 

(B) Valley of Kashmir 

(C) Valley of flowers 

(D) Damodar Valley 

 

25. The Capital of Maukharri was________ 

(A) Thaneshwar 

(B) Kannauj 

(C) Purushpur 

(D) None of above 

 

26. Name Youngest Indian climbed Mount Everest  

(A) Dhananjay 



(B) Ravinder 

(C) Abhinav Pandey 

(D) Arjun Vajpai 

 

27. The Ozone layer lies in the 

(A) Photosphere 

(B) Troposphere 

(C) Tropopause 

(D) Stratosphere 

 

28. Sriharikota Island located near 

(A) Chilka Lake 

(B) Mouth of the Mahanadi 

(C) Pulicat Lake 

(D) Mouth of the Godavari 

 

29. How many Jyotirlingah are there devoted to Lord Shiva ? 

(A) 6 

(B) 12 

(C) 24 

(D) 18 

 

30. Who was awarded with 1st Padmashree in athletics? 

(A) P.T. Usha 

(B) Milkha Singh 

(C) Bandhu Singh 



(D) None of above 

 

31. Which of the following is found in the composition of Vitamin 'D' ? 

(A) Ascorbic acid 

(B) Calciferol 

(C) Folic acid 

(D) Retinol 

 

32. In which part of India, the daily range of temperature found greater ? 

(A) Eastern Coastal areas 

(B) Interior areas of Chhattisgarh plain 

(C) Andman Island 

(D) Desert areas of Rajasthan 

 

33. The Sun Temple of Modhera lies in which state? 

(A) Bihar 

(B) Gujrat 

(C) Odisha 

(D) Bengal 

 

34. The 1st Commonwealth games were held  

(A) 1930 Hamilton 

(B) 1934 Australia 

(C) 1935 India 

(D) 1940 Pakistan 

 



35. Which Vitamins is water soluble? 

(A) Vitamin A 

(B) Vitamin B 

(C) Vitamin D 

(D) Vitamin E 

 

36. Hasdo Valley in Chhattisgarh is famous for  

(A) Iron ore mines 

(B) Coal mines  

(C) Bauxite mines 

(D) Dolomite mines 

 

37. In which country is the "Angkor-vat temple" complex located? 

(A) Indonesia 

(B) Myanmar 

(C) Sri Lanka 

(D)Kampuchea 

 

38. Name the person won Gold Medal in 2008 Asian Games Shooting in China under individual category 

(A) Rajvardhan Singh  

(B) Abhinav Bindra 

(C) Liyandar Paes 

(D) P.T. Usha 

 

39. SONAR is mostly used by 

(A) Astronauts 



(B) Doctors 

(C) Engineers 

(D) Navigators 

 

40. Dalli-Rajhara mines of Chhattisgarh are famous for 

(A) Gold Production 

(B) Manganese production 

(C) Iron ore production 

(D) Bauxite production 

 

41. Which ruler of Bengal founded the ancient University called - "Vikramshila" ? 

(A) Dharmapala 

(B) Gopal 

(C) Devpal 

(D) Mahipal 

 

42. A person swims upstream 11 k.m. and down stream 26 k.m. taking 5 hours each time. The velocity of 

the current of the river is (per hour) 

(A) 1.5 km 

(B) 2 km 

(C) 3 km 

(D) 3.5 km 

 

43. Pyrometer is for measuring 

(A) Air pressure 

(B) High temperature 

(C) Humidity 



(D) Earthquake 

 

44. Total number of districts in chhattisgarh at present 

 

(A) 20 

(B) 27 

(C) 25 

(D) 18 

 

45. Amir Kushro was a____________ 

(A) Poet 

(B) Historian 

(C) Musicologist 

(D) All of the above three 

 

46. A train of length 110 m passes a pale in 3 seconds. How much time it will take to cross a railway 

bridge of length 165 m seconds)  

(A) 5.5 

(B) 7.5 

(C) 9.5 

(D) 11.5 

 

47. Which is NOT insect amongst following? 

(A) Butterfly 

(B) Cockroch 

(C) Mosquito 

(D) Spider 



 

48. Mangrove (Tidal forests) vegetation in India is mostly found in  

(A) Malabar coast 

(B) Sundarbans 

(C) Rann of Kachchh 

(D) Dandakaranya 

 

49. Which European traveller came to India during the region of Aurangzeb? 

(A) William Hawkins 

(B) Thomas Roe 

(C) Antonia Monserrate 

(D) Peter Mundy 

 

50. In what ratio sugar at Rs. 32/kg should be mixed with sugar at Rs. 37.50/kg in order that the mixture 

is worth Rs. 34.50/kg ? 

(A) 8:3 

(B) 7:4 

(C) 5:6 

(D) 6:5 

 

51. Concave lens is used to correct 

(A) Cataract 

(B) Hypermetropia 

(C) Myopia 

(D) Presbyopia 

 

52. Which among the one following river does not make a delta? 



(A) Mananadi 

(B) Godavari 

(C) Narmada 

(D) Kaveri 

 

53 Akbar launched "Din-i-llahi" in the year______ 

(A) 1570 

(B) 1578 

(C) 1581 

(D) 1582 

 

54. There are 6 steps for moving from first floor to second floor. Any two persons can not be on the same 

step. R is 2 steps above P. Q is 1 step above S and R is 2 steps below S. if P is on 1st step, then Q is 

on____step. 

(A) Third 

(B) Fourth 

(C) Fifth 

(D) Sixth 

 

55. The important metal used with iron to produce stainless steel is 

(A) Aluminium 

(B) Carbon 

(C) Chromium 

(D) Tin 

 

 

56. The winter rainfall in Chhattisgarh area is mainly due to one of the following 



(A) Retreating monsoon 

(B) S..W. Monsoon 

(C) S.E. Monsoon 

(D) Western depressions 

 

57. Which company started the First Railway Service in India? 

(A) Eastern Railway 

(B) Great Indian Peninsula Railway 

(C) Madras Railway 

(D) Awadh-Tirhut Railway 

 

 

58. A, Q,Y,Z, are different persons. Z is the father of Q, A is the daughter of Y and Y is the son of Z. if P 

is the son of Y and B is the brother of P then 

(A) B and Y are brothers 

(B) A is the sister of B 

(C) Z is the uncle of B 

(D) Q and Y are brothers 

 

59. Which is the highest mountain on earth? 

(A) Mount Everest 

(B) Kanchanjanga 

(C) Lhotse 

(D) Makalu 

 

60. Which one of the following pair in Chhattisgarh is not correctly matched? 

(A) Raipur - State Capital 



(B) Bharatpur - Rice milling centre 

(C) Durg-Bhilainagar - Industrial city 

(D) Khairgarh - Golden city 

 

61. Which letter would be placed in the empty box? 

BDGK create box 

 

(A) O 

(B) P 

(C) Q 

(D) R 

 

62. How many bones are in Shark Fish ? 

(A) 100 

(B) 0 

(C) 200 

(D) 300 

 

63. Maximum rocks extension in Chhattisgarh is 

(A) From Duccan Trap 

(B) From Cuddapah Trap 

(C) From Dharwar Trap 

(D) From unclassified crystallation 

 

64. Which one of the following pair is not correctly matched? 

(A) Steel plant         Collaborating country 



(B) Rourkela           Germany 

(C) Bhilai              Old USSR 

(D) Durgapur          U.K. 

(E) Bokaro             U.S.A. 

 

65. In which of the following parts of India are the largest reserves of mineral? 

(A) West  

(B) South 

(C) North 

(D) South east 

 

66. How many squares are there in the given figure? 

    

    

    

    

 

(A) 25 

(B) 29 

(C) 30 

(D) 32 

 

67. Frogs are cold blooded animals  

(A) True 

(B) False 

(C) None of the above 

(D) All of the above 

 



68. Which one of the following statement is not correct about Chhattisgarh State ? 

(A) The State is predominently an agricultural area 

(B) More than 75% of its population lives in villages 

(C) The agriculture here depends largely on rainfall 

(D) The agriculture economy of the State is characterized by plantation farming 

 

69. Which of the following district of Chhattisgarh is the smallest in term of area? 

(A) Dantewade 

(B) Kawardha 

(C) Raipur 

(D) Durg 

 

70. How many minimum number of different colours a painter must use to paint the figure below, so that 

no two adjacent regions have the same colour ? 

 

  

  

 

 

  

(A) 2 

(B) 3 

(C) 4 

(D) 5 

 

71. Dogs are herbivores 

(A) True 

(B) False 

(C) None of the above 



(D) All of the above 

 

72. The reduction of voting age from 21 years to 18 years for the Lok Sabha and Legislative Assemblies 

was done through 

(A) Fifty Ninth Amendment, 1988 

(B) Sixty-First Amendment, 1989 

(C) Sixty-Fourth Amendment, 1990 

(D) Seventy-Third Amendment, 1992 

 

73. Which of the following is not a reason for loss of agricultural land in Chhattisgarh? 

(A) Expansion of roads 

(B) Urbanization 

(C) Industrialization 

(D) Expansion of irrigation facilities 

 

74. If Chandra is shorter than Reena, Puja is taller than Sita and Sita is taller than Reena, who among 

them is the shortest ? 

(A) Puja 

(B) Reena 

(C) Sita 

(D) Chandra 

 

75. Who is father of Modern Genetics? 

(A) Gregor Johann Mendel 

(B) Hugo De Vries 

(C) Charles Darwin 

(D) Thomas Hunt Morgan 



 

76. A member of Public Service Commission can be removed from his/her office under which Article of 

the Constitution? 

(A) 315 

(B) 316 

(C) 317 

(D) 318 

 

77. Chattisgarh state came into existence on  

(A) 1 November, 2000 

(B) 9 November, 2000 

(C) 10 November 2000 

(D) 1 January, 2000 

 

78. A city has population of 3,00,000 out of which 1,80,000 are males. 50% of the population is literate. 

If 70% of the males are literate then number of literate females would be 

(A) 30,000 

(B) 54,000 

(C) 24,000 

(D) 60,000 

 

79. What is Mushroom? 

(A) Fungi 

(B) Plant 

(C) Animal 

(D) Bacteria 

 



80. Who acts as the Secretary of National Development Council (NDC) ? 

(A) Secretary, Ministry of Finance 

(B) Secretary, Ministry of Planning 

(C) Secretary, Planning Commission 

(D) Secretary, Finance Commission 

 

81. Which district of Chhattisgarh has the largest area? 

(A) Korba 

(B) Bastar 

(C) Dantewada 

(D) Raipur 

 

82. A box has 2 marbles each of red, blue yellow and green colours. The box is kept in a dark room where 

the colours of the marbles cannot be distinguished. A boy wants 2 marbles of the same colours. How 

many different marbles he must draw from the box so that he is sure that he has got 2 marbles of the same  

colour? 

(A) 5 

(B) 4 

(C) 3 

(D) 6 

 

83. Of the following which one is not a fish? 

(A) Star fish 

(B) Saw fish 

(C) Pipe fish 

(D) Guitar fish 

 

84. Which of the following tribes is not found in Chhattisgarh? 



(A) Bhotia 

(B) Gonds 

(C) Maria 

(D) Banias 

 

85. Which article of the Indian Constitution presceibes eligibility conditions for re-election to the post of 

president of India? 

(A) Article 52 

(B) Article 54 

(C) Article 55 

(D) Article 57 

 

86. There are four relatives, A,B,C and D. A is three times older than B. C is half the age of D. B is older 

than C. Which of the following can be inferred ? 

(A) B is older than D 

(B) A is older than D 

(C) A may be younger than D 

(D) None of these 

 

87. Which element is the best conductor of electricity ? 

(A) Silver 

(B) Copper 

(C) Aluminium 

(D) Iron 

 

88. In which list the 'Panchayati Raj' subject is included ? 

(A) Union List 



(B) State List 

(C) Concurrent List 

(D) Residuary List 

 

89. Which is the first National Park of India ? 

(A) Kanha National Park 

(B) Dudhwa National Park 

(C) Rajaji National Park 

(D) Corbett National Park 

 

90. Which will be the next number in the following series? 

1,8,27,64,........ 

(A) 125 

(B) 138 

(C) 81 

(D) 100 

 

91. Which country has the status of only "Dialogue Partner in the ASEAN"? 

(A) Vietnam 

(B) Cambodia 

(C) Singapore 

(D) India 

 

92. The principle" That all people are fully and equally human" is known as 

(A) Universalism 

(B) Holism 



(C) Socialism 

(D) Interactionism 

 

93. In which State Nandadevi Biosphere Reserve is located? 

(A) Chhattisgarh 

(B) Assam 

(C) Himachal 

(D) Uttarakhand 

 

94. Ramesh walks 400 meter in north direction from his house. Then he turns right and walks 400 meter. 

Now he walks in South direction for 100 meters. How far is he from his house if the direct distance from 

his house to this point is taken ? 

(A) 500 m 

(B) 900 m 

(C) 300 m 

(D) 200 m 

 

95. Where was the Miss World 2011 contest held? 

(A) California 

(B) Paris 

(C) London 

(D) Victoria 

 

96. The three-tier system of Panchayati Raj was initially recommended by 

(A) Balwantrai Mehta Committee 

(B) Ashok Mehta Committee 

(C) L.M. Singhvi Committee 



(D) G.V.K. Rao Committee 

 

97. Which is the largest river of Chhattisgarh ? 

(A) Indravati 

(B) Narmada 

(C) Mahanadi 

(D) Mand 

 

98. A particular number when divided by 24 leaves a remainder of 1. If that particular number is divided 

by 3 then what will be the remainder? 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

 

99. Who was the Chief Election Officer in the UP 2012 election ? 

(A) Anita Mesram 

(B) Umesh Sinha 

(C) Avanish Sharma 

(D) Mrityunjaya Kumar 

 

100. The First Nationalization of Bank in India was done  

(A) In 1950 

(B) In 1960 

(C) In 1969 

(D) In 1979 

 



101. The Bhagirathi river originates from__________ 

(A) Gangotri 

(B) Gomukh 

(C) Mansarover 

(D) Tapovan 

 

102. In a school of 500 students, 10% do not play cricket nor football, 4% neither play cricket nor fotball. 

How many play football but do not play cricket ? 

(A) 80 

(B) 50 

(C) 30 

(D) Data is insufficient 

 

103. What was the number of the Congress Party women candidates in second phase Assembly Election 

2012? 

(A) 8 

(B) 9 

(C) 7 

(D) 10 

 

104. The declaration of reforms on August 20, 1917 is known as 

(A) Montague declaration 

(B) Morely declaration 

(C) Minto declaration 

(D) Chelmsford declaration 

 

105. Which of the following states is loacted in the North of Chhattisgarh ? 



(A) Maharastra 

(B) Madhya Pradesh 

(C) Uttar Pradesh 

(D) Orissa 

 

106. There are 21 rows of seats in an amphitheatre. Each row has 4 seats more than the row in front. The 

last row has 100 seats. How many seats are there altogether in the amphitheatre ? 

(A) 1260 

(B) 1200 

(C) 1140 

(D) 1080 

 

107. A village in the plain area of India comes under the Pradhan Mantri Gram Sadak Yojna, if its 

population is more than  

(A) 500 

(B) 1000 

(C) 1500 

(D) 2000 

 

108. The 'Right to Property' was deleted from the List of Fundamental Rights guaranteed to the citizens of 

India by 

(A) Forty-second Amendment 

(B) Forty-third Amendment 

(C) Forty-fourth Amendment 

(D) Forty-fifth Amendment 

 

109. Surguja district is located in the _________of Chhattisgarh state. 

(A) North 



(B) East 

(C) West 

(D) South 

 

110. How many rectangles of different sizes can be formed by using 24 squares which are identical ? 

(A) 10 

(B) 8 

(C) 6 

(D) 4 

 

111. Which country allow International Atomic Energy Agency Inspector to access military complex ? 

(A) Israel 

(B) Iran 

(C) India 

(D) North Korea 

 

112. Chhattisgarh state shares its boundaries with_________Indian states. 

(A) 7 

(B) 5 

(C) 6 

(D) 4 

 

113. Final decision on question as to disqualification of members of a Legislative Assembly is taken by 

(A) Chief Minister 

(B) Governor 

(C) Chief Justice of the High Court 



(D) Speaker of the Legislative Assembly 

 

114. Find the value A and B in the figures given below. 

 

 

(A) 48, 24 

(B) 40, 20 

(C) 36, 24 

(D) 48, 20 

 

115. Former U.N. Secretary - General Kofi- Annan visited to which country recently in hope of starting 

peace process there? 

(A) Israel 

(B) Afghanistan 

(C) Syria 

(D) Egypt 

 

116. Mahatma Gandhi gave the title of 'Sardar' to Vallabhbhai patel for his great organizational skills in 

(A) The Kheda Stayagraha 

(B) The bardoli Stayagraha 

(C) The Salt Satyagraha 

(D) The Individual Satyagraha 

 



117. The Maximum north to south length of Chhattisgarh state is between ________km. 

(A) 500-600 k.m. 

(B) 600-700 k.m. 

(C) 400-500 k.m. 

(D) 700-800 k.m. 

 

118. In a code language DRINK is written as SPEAR and BRACE is written as UPION. What will 

BRICK be written as in that language? 

(A) UPEIR 

(B) UNEOR 

(C) UPEOR 

(D) VPEBR 

 

119. What is maximum expenditure limit for the Parliamentary Elections of a Constituency? 

(A) Rs. 25 Lakhs 

(B) Rs. 40 Lakhs 

(C) Rs. 70 Lakhs 

(D) Rs. one crore 

 

120. Privilege  motion can be raised against a Minister when he 

(A) loses confidence in the Government. 

(B) absents himself for a long time. 

(C) withholds facts of a case or gives a distorted versions of facts. 

(D) avoids collective responsibility of the Cabinet. 

 

 

121. Generally the slope of Chhattisgarh state is towards________ 



(A) West 

(B) South 

(C) North 

(D) East 

 

122. Mode value of any series is 

(A) Middle value 

(B) Value whose frequency is maximum 

(C) Minimum frequency value 

(D) Limit value 

 

123. When was the resolution to divide U.P. in four States was passed by the U.P. Assembly ? 

(A) 24-11-2011 

(B) 21-11-2011 

(C) 22-11-2011 

(D) 23-11-2011 

 

124. Which one of the following provisions deal with the privileges and immunities of the Members of 

Parliament under the Constitution of India ? 

(A) Article 104 

(B) Article 105 

(C) Article 82 

(D) Article 117 

 

125. The maximum geographical area of Chhattisgarh state is under 

(A) Mountains 

(B) Plains and river basins 



(C) Plateau 

(D) Pats 

 

126. If the arithmetic mean of 25, 17, 19, x is 19, then the value of x is 

(A) 21 

(B) 14 

(C) 13 

(D) 15 

 

127. With which among the following countries, India has recently signed bilateral Aviation Safety 

Agreement (BASA) ? 

(A) Australia 

(B) Canada 

(C) US 

(D) UK 

 

128. Which one of the following is not included in the 'Union List' of the Constitution of India ? 

(A) Defence 

(B) Foreign Affairs 

(C) Railways 

(D) Agriculture 

 

129. Malikal Mountain range is not a part of which of the following districts of Chhattisgarh ? 

(A) Rajnandagaon 

(B) Kawardha 

(C) Raigarh  

(D) Bilasopur 



 

130. If the median of the distribution 10, 12, 13, 16, x, 20, 25, 30 is 18, then tha value of x is 

(A) 18 

(B) 16 

(C) 20 

(D) 22 

 

131. As per the recent data, which among the following is the top state in terms of number of domestic 

tourist visits 

(A) Andhra Pradesh 

(B) Uttar Pradesh 

(C) Goa 

(D) Rajasthan 

 

132. How many members are nominated in the Legislative council of Uttar Pradesh by the State Governer 

? 

(A) 1/10 of the total members 

(B) 1/8 of the total members 

(C) 1/7 of the total members 

(D) 1/6 of the total members 

 

133. Which of the following district is part of Narmada basin ? 

(A) Rajanandgaon 

(B) Raipur 

(C) Bastar 

(D) Korba 

 



134. The median of the 2,3,4,5,7,1,8, is 

(A) 4 

(B) 5 

(C) 7 

(D) 11 

 

135. Which among the following is the Top State in India in terms of Foreign Tourist Visits ? 

(A) Rajasthan 

(B) Goa 

(C) Maharashtra 

(D) Delhi 

 

136. Which of the following is not true about the Anti-Defection Bill ? 

(A) An M.P. or an M.L.A. will be disqualified if he has voluntarily given in the membership of the party 

to which he belonged. 

(B) In the event of a member's absence from voting in the house on a particular issue the M.P. or M.L.A. 

will be disqualified. 

(C) A member shall not be disqualified if there is a merger of political parties. 

(D) The Speaker of the Lok Sabha will not be disqualified if he becomes a member of another political 

party later on. 

 

137. The average annual rainfall of Chhattisgarh is 

(A) 1400-1425 m.m. 

(B) 1390-1400 m.m. 

(C) 1425-1450 m.m. 

(D) 1300-1325 m.m. 

 

138. Mode of the distribution 3,5,7,4,2,1,4,3,4, is 



(A) 2 

(B) 5 

(C) 3 

(D) 4 

 

139. Who is the Managing Director (MD) of Delhi-Metro Rail Corporation (DMRC) at present ? 

(A) Shri Mangoo Singh 

(B) Shri E. Shridharan 

(C) Shri M. Gopalan 

(D) None of these 

 

140. Which of the following is the subject of Concurrent List ? 

(A) Police 

(B)Criminal matters 

(C) Radio and Television 

(D) Foreign Affairs 

 

141. Which is the main coal producing area of Chhattisgarh ? 

(A) Korba 

(B) Mand-Raigarh 

(C) Sonhat 

(D) Lakhanpur 

 

142. In the following Positional mean is  

(A) Arithmetic mean 

(B) Median 



(C) Geometrical Mean 

(D) None of the above 

 

143. In which member of Parliament, the best Perliamentarian Prize 2009 was awarded ? 

(A) Shri. Jaswant Singh 

(B) Shri. Mohan Singh 

(C) Shri. Balkrishna Sharma 

(D) Dr. Murli Manohar Joshi 

 

144. A Panchayat Samiti at the Block level is 

(A) An Advisory Body 

(B) An Administrative Authority 

(C) A Consultant Committee 

(D) A Supervisory Authority 

 

145. What was the sex-ratio in Chattisgarh according to the Census of India 2001? 

(A) 989 

(B) 932 

(C) 956 

(D) 996 

 

146. The mean of 5 numbers is 18. If one number is excluded, then mean becomes 16. The excluded 

number is  

 

(A) 30 

(B) 18 

(C) 24 



(D) 26 

 

147. Who was the Chief Guest in the Indian Republic Day Celebration 2007 ? 

(A) Nicolous Sarkozi 

(B) Bladimir Putin 

(C) Yingluck Shinawatra 

(D) Mohammad Khatmi 

 

148. The Provisions regarding division of taxes between the Union and the States 

(A) Can be suspended during financial emergency. 

(B) Can be suspended during National emergency 

(C) Cannot be suspended under any circumstances. 

(D) Can be suspended only with the consent of majority of the state Legislatures. 

 

149. Which of the following is not a harbour ? 

(A) Kandla 

(B) Cochin 

(C) Bengaluru 

(D) Mangalore 

 

150. The average age of six member family is 22 years. If the age of youngest member is 7 years, then the 

average age of the family at the time of birth of the youngest member was 

(A) 18 years 

(B) 20 years 

(C) 16 years 

(D) 19 years 


